— A
H = 0l & AF &2 H M A
20159 =4 1 3 =X SEIH &A
2N nEHAHY
HH: MIADE 23X 4H
@ FXUE SE(FENE SEIAH) (S HA)
£ A -2 (SH) - HRAY - BES Ol A o4 I AR Hns2
mE—=RepSans 5,861,999 4,461,701 1,400,298
Al Yl 63,000 0 63,000
i 5,798,999 4,461,701 1,337,298
HdEDNE 2SS 4,287,892 2,886,807 1,401,085
Al Yl 63,000 0 63,000
ksl 4,224,892 2,886,807 1,338,085
FAE SE(FXE E23H) 115,753 52,753 63,000
Al Yl 63,000 0 63,000
i 52,753 52,753 0
Ol F=XALY 90,000 27,000 63,000
Al Bl 63,000 0 63,000
4l 27,000 27,000 0
301 et A2 90,000 27,000 63,000
Al Bl 63,000 0 63,000
sl 27,000 27,000 0
M IIEIEA S 90,000 27,000 63,000
OIFEIAIE (HEIT)
d& 3,000,000 =300t 7 90,000 27,000 63,000
Al Yl 63,000 0 63,000
i 27,000 27,000 0
SEFANE 2 (FIHE SEsH) 2,721,026 545,951 2,175,075
SHEXHE 22 2,355,361 179,074 2,176,287
201 B2 | 35,777 38,090 AN2,313
01 AR 22| bl 30,737 33,050 N2,313
OS=C Z2AETIE SEA Zel(0aEZY)
a8 3,720,000 3,720 4,000 A 280
Osthl FXUE e E228 ME(HAEZ)
23 5,859,000& 5,859 6,300 AN 441
OB FAE LTI (0 A=)
a8 15,345,000 15,345 16,500 A 1,165
OB FIE LEE22(0AEY)
a8 3,023,000 3,023 3,250 N227
O3S FIE OHLHEX B (O AEZ)
a8 1,395,000 1,395 1,500 A 105
OBEFANE SIYEZ (0 AEY)
a8 1,395,000 1,395 1,500 A 105
401 Al HI L 20 Y] 2,258,600 80,000 2,178,600
01 Al &bl 2,258,600 80,000 2,178,600
OBLFINE AMEES SA(MAEZ)
a8 18,600,000 18,600 20,000 A 1,400
OCIHH4XI 2 23 FHA “&4FNE T4 S
2,100,000, 000& 2,100,000 0 2,100,000
OCHE HH=A =XE JIEtAld &X]
80,000,000 80,000 0 80,000
FHX MEFIHE 2 365,665 366,877 AT,212
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2N nEHAHY
HH: MIADE 23X 4H
O SYFNE 2I(FNE SE€IAH) (S HA)
SAH-AH -2 (SA) - HREAY - BES Ol A o4 I AR Hns2
201 LEt2 9| 16,121 17,333 AT,212
01 A2 22| bl 16,121 17,333 NA1,212
OFHA MEFIE SHEZ (0 AEY) 8,975 9,650 NBT75
=AM 2 68 338 4,325,000 4,325 5,000 AB75
OAXIZIIE DDCEl M AF2RZ (0l AR 2)
338 670,000 670 720 AB0
OXEIIE =2 (0aE)
38 6,476,000 6,476 6,963 N 487
NSeE (=& SL3H) 1,451,113 2,288,103 A 836,990
FolcEIfer 2% 198,113 200,543 A2,430
201 Let29| 116,813 119,243 A2,430
01 At 22| i 41,405 43,835 A2,430
OF - X Axe S2(0aE) 18,500 19,200 AT700
AES KA HE 448 5,300,000 5,300 6,000 AT700
OR0 ct=3tMiet SR (0 AEZ) 22,905 24,635 1,730
20094 Al K= (400) 23 3,535,000& 3,535 4,400 A 865
20118 Al Xk (200) 338 1,311,000 1,311 2,176 A\ 865
WEAHNMAEZ I 207,632 85,000 122,632
201 et29Y| 1,912 0 1,912
02 =294l 1,912 0 1,912
OO0rAEZI &2
20,000& * 10 A~ x122 +20,000& *94 A~ 9 1,860 0 1,860
OBUBTHEYIIAER &HIIZB
3,650 *20 A +7& 52 0 52
401 Al HI L 20 H| 205,720 85,000 120,720
01 Al HI 205,720 85,000 120,720
OYMURAH2 Jduxze &X
125,000, 000& 125,000 0 125,000
OAFATZ WSEAMES FH (HaEZ)
4 & 38,000,000 38,000 40,000 A 2,000
OHASZE A (AR 41,325 43,500 N2,175
CHASZE &X a8 37,825,000 37,825 40,000 A2,175
OXEHALES (0 aHE2) 1,395 1,500 A 105
NEHANEZE B 23 1,395,000 1,395 1,500 A 105
=Y = 3x = 462,576 468,840 NG,264
201 LEt2 9| 64,272 70,396 A6, 124
01 At 22| bl 22,976 24,772 A 1,796
O2Y = & o E2(0aE2) 7,530 8,100 A570
Gt OHLHE X & X & a8 5,430,000 5,430 6,000 A570
Oth=2 T=s(0aE2) 3,128 3,360 N232
ots a8 1,168,000 1,168 1,400 N 232
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